2021 (A) ey

SSC PART-Il (10th CLASS)
I&ATHEMATICS (SCIENCE GROUP) GROUP-| by - o3 (...d/ u"l/) ftx
TIME ALLOWED: 2.10 Hours SUBJECTIVE _‘Uil» E210 =
MAXIMUM MARKS: 60 60 = f‘f
NOTE: Wirite same question number RPN A ¥ 5 Toss st ) lv(ﬁ;{é?dli: o

and its part number on answer book, as given in the question paper.
SECTION-l (.o

R T 1 2 . . ¥ ;
2. Attempt any six parts. 12=2x6 ..g:(;/.::/;fﬁilzfg = -2
(iy  Write the quadratic equation in the standard form: x . x+l_ o L F S Ba (i)
x + 1 X

f/ \ (} 2 =5k
(i) Solve | 2x — — J == T = V.2 =AY ()

\ 2 - 2 4
(i) Define radical equation. LSy Aty (il

) 4

(iv) Evaluate P gl o~ 4 a7 _:;J;*P“af (iv)
(v) Write the quadratic equation having following roots: 3+ «/5, 3-42 ,.-_;fﬁf,-v[j;m&fs uu':;'@» {v)
(vi) Find the product of complex cube roots of unity. -s;’f—:}‘ﬁl”-‘«/}uwb‘ﬁ/-.«ﬁg'@*"?ﬂfﬁdm (vi)

y =28 f-f—fﬁ*"‘ XMip x=2 2 y=8 snferd Yo X J (vi|)
(vii) If ¥ variesdirectyas x,and y =8 whén ¥=2 find x when y =28

A\

s 1
(viii} a o 17 and a =3 when Lyt h=8§ ,ﬁg‘iﬂ” a e h=4 o2 a=3 s ax— (viii)
h* .

h=4, find a whengy h =%

{ix) Find a mean propogticnal between o = yz. B P _3:2_‘ * if:L‘ﬂ_uLJlde (ix)
X+Yy X+ y
8
3. Attempt afy-8iX parts. 12=2x6 Eferlinge 8 340
()  Resolve into partial fractions. -———— - _31_—3_"" -s‘./:?/Lfﬂgd:w//J»‘Z (i)
xT +2x -3 x° 4+ 2x -3
(i)  What are partial fractions? ?uft:i“'ﬁkc”"tfff (ii)
iy If x={,4,7,9} and LA Uy WY ={2.459 s x=1{L47.9} J i)
¥ o= {2, 4, 5, 9} then find XUY
{iv) Define a sub set and give one example. < oJELlni g S /”“‘ur.*,b:-é; (iv)
(v) Define a function. _ _l,,j,f_.;;,i}T.J/JLsf {v)
(vii fA=N and B =W thenfindthe value of 4 — B _g,f/?:i"’:»f;}/ A=~B iy B=W sl A=N Ji {vi)
(vii) What is Histogram? \L;_kf:fcfﬁf( (vii)
(viil) Write the names of two measures of central tendency. _L,;f"?tc‘iuﬁk’ wl JBSS (Vi)
(ix) Define Arithmetic mean. Al (ix)
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4. Attempt any six parts. =2x6 el iig e 3 4 )y

(iy  Define ratio and give one example. S Jeding i e .(i)

() Find x if 6:x::3:5 LS x 6:x:3:50 (it)
(¢

(i) Locate the angle 22; in xy—plane.

4]

ARG~ 22% 215 (i)

(iv) Change into radians. _150¢ ~150° syl (W)

(v} Find 6 when r =25m, /= 4.5m f=45% cr=25% &2&/#0 (v

(vi) Locate the angle in standard position using -100° -gf';;wu:;f!iod)“b»c;@)%d/‘_l:}{ﬁ,;:@:ﬁ} (vi)
a protractor or fair free hand guess. —100°

(vii) Define an angle. -é__.y/;’d;ﬂj {vii)

(vii) Ina AABC , calculate mBC when mAB = 5em, mAC = 4em, mZA = 60° .5;"_{(-*"" mBC & AABC  (viii

-

(ix) Divide an arc of any length into two equal parts. -é’;ﬂ%fur‘?x‘f.w@’} :'JJ‘P’f (ix)
SECTION-II (5.2 ¢
24=8x3 Ui A R el e
NOTE: Attempt any three questions but question No.9 is‘'eompulsory.
5(A)  Solve 4x*=9x2_ 4 4xt=0x2—4 _ESF (U5
(B} Forwhatvalue of & | _g..d'/J‘: Y +2(k +1) x + 4 Lanld Led S k()

the expression k2x? +2(k + 1) x + 4 is perfect sqUare.

| @ )
X 4+ 2 +4x° =2 - 0 i

) \/ s =2 sl feUE i ()
foz + 2 —\,’x“-2

/
. Ix? +2 + !, iy
6.(A)  Using theorem of componendo-dividendo solve i L ;Cq =2
x2+2—\x?-2
% o s 2 T
(B)  Resolve into partial fractions il X" +2x+]1 _;_f'”_;J:b’qus/d;;fT ()
(x—2) (x+3) (x=2)(x+3)

%
R:{(x,y)l.x\-l;y:{S}-d{i‘aéﬂu‘; Me LY Mz{ylyeP/\y<10};;iL:{xlxeN/\xSS}/'T (.7

T(A) fL={x|xeNnrx<5} M={y|yeP y<10 }then make relation from Lto M R= {(x,y)x+y=6}
(B)  Find standard deviation 's' . 0 3 88,09 8 9, 18 -g:?,b” 's' .Jlf'f;_;’xgu (i)
8.(A)  Verify (cot® + cosecB) (tan® — sin® ) = sech — cosOd NSNS
(B)  Circumscribe a circle about an equilateral -4 [’:LJJ%LJL?JWWL;K ABC &l (o)

triangle ABC with each side of length 4cm.

9. Prove that a straight line, by rb.:ﬁﬂui./_éf"“pr (s ﬁ)ﬁd’c—__.')}.ﬁ:_}l;fé:,;E -9
drawn from the centre of a circle to bisect a chord (which is not a diameter) is perpendicular to the chord.

OR |
Prove that if a line is drawn -.éi:.,t'.ﬁujub/é..}l}):“as;ia.lfg%)j{Jz.:'JUJ!&‘:E’;b(;(uqﬁ.’-ﬁ;pﬂugd_jl}/? fg.f_«.q%
perpendicular to a radial segment of a circle at its outer end point, it is tangent to the circle at that point.
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PAPER CODE 2021 (A)
N/MBER: 3195 SSC PARTIl (10th CLASS)

(07

MATHEMATICS (SCIENCE GROUP) GROUP-| b - S (T S
TIME ALLOWED: 20 Minutes OBJECTIVE (/.2 w20 = =y
MAXIMUM MARKS: 15 156= Af

)‘;f_.u L UUVU.rJ:f £ U:f.L....« (R Ji/“f—-C—-Jc._Lfd_UIJ"/‘/ {J)’ c‘.a.) D.IC:B:A=if: -L’Jb-d_. lr; Ly
{24 g’d..—l;t.‘uu f‘g[s_f...)r’g,._./d :(,U/lj _E/ﬂJr"’kk..J: u,&d'uﬂ“’u‘_,/,, Oy L c‘..fv:f_,lu mlucﬁ..&. i)
Note. you have four choices for each objective type question as A, B, C and D. The choice ./ ;-J",/..,L s
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not soive questions on this sheet of OBJECTIVE PAPER,
Q.No.1

-1 ﬂ}uh!’

(1) Radii of a circle are: WgJ’»Z;ﬁ:db{f (1)
(A) All equal LeV? (B) All unequal /l/,“|
(C) Double of the diameter L;f»):;,ﬁ (D) Half of any chord £ »1 c./:f,_,
(2) Aline which has two points in common with a circle is called: -G unS P %i:&f&ﬁﬁ/’ (2)
(A) sine of a circle sine ke /0 (B) cosine of acircle  cosine E’c_/Q
{C)tangent of acircle  tangent /0 (D) secantof acircle  seca Y
(3) Adcm long chord subtends a central angle of (°. Bn ke s -r_& 60° ,;}’//}:Ursi’ 4 L (3)
The radial segment of this circle is:
(A) tem ¢ 1 (B) 2em 2 (C) 3cm @ (D) 4cm ¢ 4
(4) The circumference of a circle is called: -{_Wﬂzg‘b?__ﬁi: (4)
(A) Chord 7 (B) Segment .5 ( da?ry oy (D) Tangent W
(5) Standard form of quadratic equation is: % -c;_JﬁdJLMJ:.bLfduu (5)
(A) bx+c=0.bz0 ' (B) ax c+c=0, a0
(CY ax“=bx, a#0 ax =0, aiO )
(6) If o, B arethe roots of - é%fu v 3x2 4 S5x -2=0 <htr f Q& Ji {6)
3x% +5x~2=0then a + B is ()
(A g (®) :\ © 3—5 © =
(7) The discriminant of ax2 +bx+c % -wd.-tfﬂir*v,f‘ba,\ + b g + ¢ =0 i {7)
- %bzwt dac (C) —b% + dac (D) ~ ~b% - dac

(A) b°— dac
{(8) In continued proportion i»@f Bkl et s a4 ac = b2 ca:b=b:c ._/L?J’V (8)
)

h=bh ae = 5 | is said to be proportional between '¢' and '¢'
(A) Third 1= () (B) Fourth Ly (C) Means L~ (D) Second |-
(9) Find "x' in propogtiog 4 :x:5:15 _“&f,:ry“’ ok duxuSils oF (9)

(A) 7_3 (B) ‘f (C) f} (D) 12
| k

(10) The ident| = 25x% +40x+16 is true for: -ﬁzuyjjq_ii o (<x+4) = 25x% +40x+16 =L1” (10)
{A) One value of x .:.uj‘.,g!;_; X (B) Two values of x e
(C) All values of x u;agfb'»’d' x (D) Three values of x s P )

(11) Acollection of well-defined objects is called: it fwﬁﬁff’g'J (11)
(A) Subset .afﬁj (B) Power set sl (C) Set o i (D) Improper set ‘.,rwlff

{(12) The number of elements in power set of {l, 23 } is: ..f__'lmlﬁur’ub’z'é:.:mg[. {l 2,3 } (12)
(A) 4 (B) 6 (C) 8 (D) 9

(13) A grouped frequency table is also called: . ~LVLMJML5WJJJ/ (13}
(A) Data :»* (B) Frequency distribution ﬂ:wd;ﬁ (C) Frequency polygon CLUU/ D) Histogram JVfK

(14) The most frequent occurring observation in a data set is called: = s_,LHM d. ..f/u_bf—wuffu’fﬂf‘u/ (14)
{(A) Mode 5k (B) Harmonic mean Al iz f (C) Median .-k~ {D) Geometric mean Lf:fu‘,gl’“l

(15 " Radians = =gt 2 (15)
4 4
(A) 115¢ (B) 135° (C) 150¢ (D) 30°

30(0bj)( T¥ T¢ T7)-2021(A)-50000 (MULTAN)



2021 (A)

®
, | | SSC PART-Il (10th CLASS) ) .
MATHEMATICS (SCIENCE GROUP) GROUP-II o/ () SOV
TIME ALLOWED: 2.10 Hours SUBJECTIVE _BiLw 210 = =
MAXIMUM MARKS: 60 60 = Af -
NOTE: Write same question number -‘;:_,&/;:ufzv_.;.gir.ﬂ?é Zw/’fs'/."ﬂf/:‘dlrds{(é iz o
and its part number on answer book, as given in the question paper.
SECTIONH il .
2. Attempt any six parts. 12=2x6 é‘f'—{fcatiﬁﬁl'/’:inga.df 2240
(i)  Write the quadratic equation in the standard form: (x+7)(x=3)=-7 -g‘iﬂ uffd;w.-.up&m; (i)
(i) Solve the equation using quadratic formula 2 — x* = 7x 232 =7x -ESASFLIr N (i)
(ii) Define exponential equation. ‘ _:‘fq /Uabb»ébf.:}' (iii)
(iv) Find the discriminant of the quadratic equation. 6x2— 8x+3=0 -;ép"”wi@}(mud»» (iv)
(v)  Without solving, find the sum and product of the roots of -g,:rr:"‘_,/"d" bustord Kuj»/.?! ‘,,CJ}(."/'}L/LF-JJJJ (v)
quadratic equation. 7x% = 5mx + 9n =0 Tx% = Smx + 9n =0
(vi) Find the nature of the roots of quadratic equation. 252 7x +3=0 s (L;‘u(ujﬁff—&"i-’@w (vi)
(vii) Find the value of 7 if the ratios lUnds 344 2p+5:3p+4 u.‘:’%ffé:(:b’&ggf p o (vi)

2p+5:3p+4 and 3:4 areequal

y=35 B x Bt x=3 o2 y=T s VX A (il
(viiy f yocx ,and y=7 when (%3, find x when y =35

() Find the third proportional N — )2, x*= > (x -9k =y E A ()
\ - Pl +
3. Attempt any gix-parts. 12=2x6 -..'4"’.{//&@!:?83?!“{ e 340
() Whatis anmproper fraction? | ' e o) At ()
(i)  Resolve into partial fractions. a= Tl ~£J5V LSz i)
(x —4)(x+3) (x —4)(x +3)
i) f x=6¢, v=2z* thenfind XUY XUy g v=2zt x=¢ S i
(V) f x=¢, T=0% thenfind XN7 XNTEpin T=0" <X =0 S @)
(v) Define a subset and give one example. _gf::JL‘:'.gﬂlgf_:._éf /7&:5&; (v)
(vi) Define bijective function. EaASER0 i)
(vi) Define class mark. | Epluedia (i
(viii) Define arithmetic mean. Al i
(ix) Define range. -giua_’/’?JJ (ix)

( ?i' JJJ)




-

(2)

4. Attempt any six parts. 12=2x6 _éffutfiélifp’:.df -4/;)’
(i) State theorem of componendo-dividendo. iubu»’d"”:ufr-lf (i
(i) Ifzoec xyand z=36 when _élr)"‘ zW y=3 cx=2c22=364 zx xyf (i)

x=2, y=3 thenfind z .

(i) Locate the angle 1352 in x y—plane. b -xv i 1350 i (i)
(iv) Express 60 into radians. o -ﬁﬁr{iﬂ’/ 60° (iv)
(v) Find 6, when ¢=d.5cm, r=2.5cm ¢ =45em, r=25cm B 8 ()
(vi) What is sexagesimal system of measurement of angles? RIS WL AN E;JU{’!U (vi)
(i) Find * , when 0 = 45° and £ = S6cm (=560 5 0 EWO LGP 1 (i)

(viil) Ina AABC, find mBC when —mZA = 60°, mAB =5cm, mAC =4dem _ X I*‘ mBC & AABC  (viii)
<l

(ix) Divide ah arc of any length into four equal parts. -_i';f‘»j/ “ufuw’f.v,ﬂg:b'f-?u@LJu’ : (ix)
| SECTION-Il (3.2 ) ,
24=8x3 OGS el L e IS
~ NOTE: Attempt any three questions but question No.9 is compulsory.

5.(A) Solve the equation by completing square. %% +Tx=0 2 d/d"d Jiidetie ()5
(B)  Solve by using synthetic division, UMV L ¥4 —10x% + 9 = 0l 3 st 1 fléd?f} d{}gxé (<)

if 1 and 3 are the roots of the equation_ x#2- 10x>+ 9 = 0

P 0.l /J/E':L"JJ 8—P . Et .:.JL./JWIJMJ/X/ (-6

pP-9q 5+ 3p s — 3¢
. N\ s-3p s+3¢ . __ 6pg

6.(A) By using componendo-dividendo theorem, find the value of T f s=-—=

. s+3p s5-3¢q pP—9

! 2 2 s
(B) Resolve intoatidl fractions —*— Zx il | M 7; et -Q/’U:%J/dﬁ: (e
(x+2)"(x+3) (x +2)(x+3)
(AUBY = ANB' ki U ={1,2, 3, ~———10} #B={2,3,57} 4={1357, 9})7 (.7

T(A) 4={1,3579} B={2,357}adU={123 ~—~—,10 }then verify (AUB)Y = ANB'

(B)  Find the standard deviation of 11500, 12400, 15000, 14500, 14800 zfpbf ;ﬂww (u)
8.(A)  Verify that sec@_%—l _ secO + 1 sec@ + 1 sec@ +1 fiué‘ (.8
sech — 1 tan© secd —1  tan®
(B)  Draw two common tangents to two -u:”"é;’VJfﬁ'nLuf i 354 25 u‘luﬁu;/’b?_ﬁé;/‘f?: (o)

touching circles of radii 2.5¢cm and 3.5¢m.
9. Prove that a straight line, - by BB (a2 2) ) el SE ek .9
drawn from the centre of a circle to blsect a chord (which is not a diameter) is perpendicular to the chord.

OR |

Prove that if a line is drawn -c.t'yu’LfK_/ ;»%m.btf“*:f/iﬂuw L/kﬂpﬁ;fwbﬂu’w(@/!)/‘ f Z:.»B
perpendicular to a radla! segment of a circle at its outer end point, it is tangent to the circle at that point,
32-2021(A)-40000 (MULTAN)




PAPER CODE
InuMBER: 3198

2021 (A) ,»,/Ub)
$SC PART-I (10th CLASS) @ (

MATHEMATICS (SCIENCE GROUP) GROUP-| - (S GO Sl
TIME ALLOWED: 20 Minutes OBJECTIVE (.0 220 = <y
MAXIMUM MARKS: 15 15= A

S b D38l perne o L Esi el v $887 (L D 5 C B A 22l ly L
/;f.llru’l fgbL:J“/deuJWJ¢);J )()}/ {ﬂzy"hkwlfuzﬁdu.)ﬂ&’_.); Sk L d.../,:(u:fbul.m:.u( R
Note: you have four choices for each abjective type question as A, B, C and D. The choice -u“/ J’/[j-...«ﬁw
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
bl Y gy el (1)

(1) Inaratio x:y, 'y' iscalled: N
(B) Antecedent (f  (C) Consequent (4§ (D) Propoitien ¢

(A)Relation

(2) The third proportional of x2 and JJ2 is

A (B) x7y
x3 +1 x

(3) is
(x-1D(x+2)

(A) A proper fraction /._.o.l:
(C) An improper fraction /...;l;/{
{(4) The set having only one element is called:

(B) An identity =i/
(D) A constapbtermry’

€ 2 1

X
& x3+i

o (x-1D)(x+2)

. %

-c.,t'LU/ efu(ufdfu*u)\_w‘

X Y a2

(A) Null set 26 (B) Power set &xusly, (CySingleton set JCﬁ D) Subset Juj

(5) If 4 and B are disjoint sets, then 4J B is equal to: ~e bz AUB ;‘uf_.v_f// Bu 4l (5)
(A) 4 (B) B ) ¢ (D) BUA4

(6) Adata in the form of frequency distribution is ealled: -i-fM A U//J Yo (6)

(A) Grouped data s/

(A) Dispersion
(8) secB cotB =
1

(A) sin@ 8

5in®

(9) Line segment ;ommg arﬁy point of the circle to the centre is called:
(B) Diameter /ﬂ

(A) Circunffergnce L
(10) Atangent line'htersects the circle at:

(B) Histogram .,—J"UJ § (C)Ungrouped data :r(ﬁs)j-‘ (D) Polygon [’,Uﬂﬂl/(
(7) The measures that are used to determipe the-degree or extent
of variation in a data set are called pfeasures of:

(B) Average bl

_:_t‘ﬂ/ r/../(r”ff//&}kuﬁ yRl

(C) Central tendency ufm;& (D) Domain ¢<s3

= secH cotf
1 ) sin9
cost cosO
_%l?i}-;@ﬁ Zabillad_ U‘J(;’;‘LEJL,(( )
(C) Radial segment %51, (D) Perimeter 4l
-(_L«‘&/:Q,/bu U'}.o.(

(€)

(A) Three points 44t (B) Two points 448 (C) Single paint ¢45f] (D) No point at allu"’f/yo)
(11) The semi circumference and the diameter of a circle e lstyslig /?UJ’»/”JJUJMJ—/&-/') (11)
both subtend a central angle of;
(A} 90° (B) 180°
(12) The measure of the external angle of a regular octagon is:

(C) 270° (D) 360°
e b u:’:ud:;é:f(b‘lf (12)
¥
(A) q (B) 3 (C) g (D)
(13) Two linear factors of X%~ 15% + 56 are;
(A) (x=7),(x—8) B)(x+7)(x—-8) (C)(x~7),(x+8) D)(x+7)(x+8)
(14) Product of cube roots of unity is: e AL (18)
(A) 0 (B) 1 ey =1 (D) 3
(15) «? + B is equal to:

2___[52 (B)_1_§_+_1__ (C)(a+§3)2—2a|3

32(0bj)( I T I¢ I)-20

) —
16
o BBngel ¥ -15x+56 (1)

ez a2+ pr (15)

(D)OL-%—B

21(A)-40000 (MULTAN)



PAPER CODE 2021 (A)

.\mMBER: 3191 SSC PART-II (10th CLASS)

MATHEMATICS (SCIENCE GROUP) GROUP-I b <o) (o ST
TIME ALLOWED: 20 Minutes OBJECTIVE (5:’:/”,-0 o 20 = =y
MAXIMUM MARKS: 15 - 15= AF

A o | e s MJWL._/W../ e m iJ v“:fr__)d.w.u:"//qﬁu:’ J‘Zc_. D . C:B:-A ..mt?.ﬁlefdrf .
£24-dr Kd_‘:-L*u.. f‘\_)fu-_.u"d:_./ 4 JJJ/' Efwr"’}:iﬁ._affw&u-_uﬂgd_// oy bdad ‘d:,"ﬂml.z:_...f ke
Note: you have four choices for each objective type question as A, B, C and D. The choice _._)_‘):J’/C‘uﬂlr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 -1 /,/'Jfr
(1) Standard form of quadratic equation is: _{_fwgvd'mu&m (1)
(A) bx+c=0,b=0 (B) ax2+b);+c:0,a¢0
(€) ax*=bx, a#0 D) ax’=0, a#0
(2) If o B arethe roots of ~cis o+ B ?um)u:f: 3x2 +5x—2=0 (5 VO SR i (2)
3 +5x-2=0 then « +f is
5 3 -5 »_2
(A) 3 (B) 3 (C) R D) 3
(3) The discriminant of ax? + bx+c=0is _a_tﬁf‘aJJ)Ka 24 bhx+c=0cb (3)
(A) b? ~ dac (B) b2+ dac (C) —b? + 4ab (D) -b” - 4ac
(4} In continued proportion -;.tw;‘;: Bl et s a'\Leac=b> a:b=b:c a,/L';J"V (4)
a:b=bc ge=p>, 'b' issaidto be proportional betwedn Tand 'c' .
(A) Third 1+ (B) Fourth 3¢ {ChNueans L (D) Second !y
(3) Find 'x'inproportion 4:x::5:15 S x4 x 5 15 ek (5)
w12 @) 2 © 3 ©) 12
4 3 4
(6) The identity (5x+4)? = 25x% +40x+16 s true far *.;_cﬂm.{_f. (5\c+4)"~ 252 +40x+16 =LV (6)
{A) One value of x ..«’q.fd X (B) Two values of x ur”;-d X
(C) All values of x ur"fl/ X (D) Three values of x Uit S x
(7) A collection of well-defined objects is Called: -4 t‘ﬁ,w:” 5&/15! (7)
(A) Subset _,{Gf 1B) Power set =xul  (C) Set ox (D) Improper set h_.v:._..a.l;/{
(8) The number of elements in Power s&tof {1, 2,3 }is: e bowfuiilennl {1,2,3} (@8
(A) 4 (B) & (C) 8 (D) 9
(9) Agrouped frequency fable is7also called: ) - L“Llemdef:/ (9)
(A) Data Jis* 48:) Eyéquency distribution (f.’"’wﬁ (C) Frequency polygon L,Lum/ Gaw D) Histogram ,JU‘S’
(10) The most freqdeabdtcurring observation in a data set is called: ,c.JL J.adlaa_.ﬁ_,f:-b:.,_/u'ﬂf (10)
(A) Modengio (B) Harmonic mean Af:?..b‘?-"(’? (C) Median -+ (D) Geometric mean w@ﬂ
(] 2 Badians cgb
4 "= 4
(A) 1157 (B) 135° (C) 150° (D) 307
(12) Radii of a circle are: e gkl (12)
(A) All equal clep? (B) All unequal izl
(C) Double of the diameter L'ﬁ:.;ﬁ‘ (D) Half of any chord & »Tc afg_,
{(13) Aline which has two points in common with a circle is called: _Jﬁf WS P En A Lo :LJJ:?-» (13)
(A) sine of a circle sine Ko /s (B) cosine of acircle  cosine ¥ i
(C) tangentof acircle  tangent ke i (D) secant of acircle  secant K. #I;
(14) Adcm long chord subtends a central angie of 60 . e S e bl 600 {:J}];uur" 4L (14)
The radial segment of this circle is:
) tem (71 (B) 2em (2 (C) 3em 3 (D) 4cm (4
(15) The circumference of a circle is called: -c_ulﬂ/uﬁ'&._./ (15)
(A} Chord (B) Segment ¥ (C) Boundary w» (D) Tangent U
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PAPER CODE 2021 (A) | oD
N‘UMBER, 3193 SSC PART-Il (10th CLASS) 1>
MATHEMATICS (SCIENCE GROUP) GROUP-| by - (/)L
TIME ALLOWED: 20 Minutes OBJECTIVE u:@/‘”,-a? 20 = =
MAXIMUM MARKS: 15 15= AF

A i L A3 YL g arne s Esi L v pd6017 Lt LE 0D s C B A bzl Ly 2
sy et B4 "ﬂ"/')/" /'/r"}(" v vl Lt J /s '(;'( Asiligaul) o 22
VEYE IV tRVISY S i TSSOV PR CVE VIV IR LTV LI IS SO A PRSI O WA 2 (§TY 73] 9= i3
Note: you have four choices for each objective type question as A, B, C and D. The choice ,qﬁfﬁ}aﬂlr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No creldit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 -4 Al
(1) The most frequent occurring observation in a data set is called: -q_tj&f/ﬂdbé—ff/wéi&wuﬁﬂr’uﬁ (1)
(A) Mode b (B) Harmonic mean Jm!._@Tlf‘? (C) Median -+ (D) Geometric mean bosl G

3n N et T

(2) oy Radians = = as 1 (2)
(A) 1157 (B} 135° (C) 1507 ({0 30°

(3) Radii of a circle are: _ug‘u’iuﬁgﬁbdug (3)
(A)All equal Lep (B) All unequal Lz A
(C) Double of the diameter U@J;}J (D) Half of any chord &JT(:J:(,({J(

(4) Aline which has two points in common with a circle is called: N2l un AL L S (4)
(A) sine of a circle sine Ko 40 (B) cosinelof &wcirtle  cosine e /i
(C) tangent of acircle  tangent €. 70 (D) segantof a circle  secant ke /1

(5) Adcm long chord subtends a central angle of 60°. e Js e bligili6 607 {f/k”'—‘f’ 4 Al ()

The radial segment of this circle is:

(A) Tem 1 (B) 2cm (2 (C) 3cm ¢ 3 (D) 4cm (" 4

(6) The circumference of a circle is called: s i:LH/L-fEL}:‘J (6)
(A} Chord (B) 8égment &' (C) Boundary s (D) Tangent W&

(7) Standard form of quadratic equation €’ -;.fd;g»df;uv&»: (7)
(A) bx+c=0, b=0 B) ax’+bx+c=0, a+0
(C) ax®=bx, a=0 (D) ax’=0, a#0 )

(8) If o, [ arethe roots gf -z oo+ P ?u:ﬂfué Ix2 +5x—2=0 bl p o A (8)

I w5k —2=0 then\/+ B is:
W2 4 ® > ©) =2 o) =2
3 5 3 3

(9) The discriminﬁnf of axz +bx+c=0Iis -g,bﬂux:if}}{axz +bx+c=0 bl (9)

(A) b*Qdac (B) b2 + 4ac (C) —b% + dac (D) — b2 — dac

(10) In continued proportion ..c:...t'iir(._./g b sl et o '@ U oac= B2 a:b=b:c ._/GJ’V (10)
a'b=b:c. ac=5ht 'b' issaidtobe proportional between 'a' and 'c'.

(A) Third 1,2 (B) Fourth 2 (C) Means L~ (D) Second i

(11) Find 'x' in proportion 4 : x :: 5:15 S Xt 4ixn5:15 F (1)

75 4 3

(A) ’l (B) 3 (C) 2 (D) 12 |

(12) The identity (5x+4)>=25x> +40x+16 istruefor:  .coeend & «(5x+4)%= 2507 +40x+16 <4l (12)
{A) One value of x .:,.E.,_C;_, X (B) Two values of x u,if;,’d/ X
(C) All values of x ur"a;iw?u'/ x (D) Three values of x uk’;fd/ X )

(13) A collection of well-defined objects is called: et (1)
(A) Subset wr(¥ (B) Power set xusl  (C) Set 2 (D) Improper set Lrwaiy?

(14) The number of elements in power set of {], 2,3 } s -Q—L}ﬁﬁfﬁ;‘\fw’@‘iq‘ﬂﬁé {1, 2, 3} (14)
{A) 4 (B} 8 ' (C) 8 (D) 9 )

(15) A grouped frequency table is also called: -c‘-t‘iﬁagi»?du;’tﬁﬁf (15)

) 5 (.S Y . & .1
(A) Data s+ (B) Frequency distribution (:”dwi (C) Frequency polygon Luzm,:{;m (D) Histogram 3¢
30(0bj)( I< I )-2021(A)-50000 (MULTAN)



PAPER CODE 2021 (A) -
UMBER: 3197 SSC PART-Il (10th CLASS) fg/;
MATHEMATICS (SCIENCE GROUP) GROUP- e - s/ (AT s
TIME ALLOWED: 20 Minutes OBJECTIVE (%>.» 020 =
MAXIMUM MARKS: 15 15= AF

S | ,):i;ro//b}iw”f&'b‘z..ffﬁ:—/»a,bﬁ u:f'l)f‘zé_.)..",‘-lré/.u[irﬁ{{égdlﬁ -;J_?Zé.: D.CB:A o?’f.,‘—@&&d’rﬁ ot
,7/,3{._;”:’1}! -f&.t;&:;_,ﬂ?ﬂ/dfaw‘u(i_/:;i }(J:ﬂ! _g'ﬂjr‘jklv’.?«lﬁw&u‘:ajfd/é../q //_b'b/ b L;/:J(w.fbwk):,mj _&;
Note: you have four choices for each objective type question as A, B, C and D. The choice auj/fsd’)i;:.ulr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER,

Q.No.1 A Ay
(1) A4cm long chord subtends a central angle of 60° K ke Sy - bl 607 ,;};-};Ul:('” 4 i (1)
The radial segment of this circle is:
(A) Tcm 1 (B) 2cm (/2 (C) 3em (3 (D), 4
(2) The circumference of a circle is called: ,c‘.tl'-ﬂf?z_.}u (2)
(A) Chord Js (B) Segment b (C) Boundary Q) Tangent JV
(3) Standard form of quadratic equation is: - ugji_f_ff:v‘u(&fjb/‘&z)u (3)
(A bx+c=0,b#0 (B) ax®+bx+c=0Nak0
(C) axzsz, az0 (D) axzzﬁ, a+ ¥ .
(4) If o, P arethe roots of -<isoa+ P ?u’r:u'JLZ. 3x2 +5x-2=0 abi B (a A (4)
3x%2 £ 5x-2=0 then o + B is:
. D 3 2 =3
(A) 3 (B) 3 () 3 (D) 3
(5) The discriminant of ax + bx + ¢ = 0 is -a{-&*mﬂf}/’s’axz +bx+c=0cb (5)
(A) b* - dac (B) b2+ 4ac (C) —b+ dac (D) —b* - dac
(6) In continued proportion _;_;_L“Lif‘f._x{:’i b LT 'a Ut oac=b% caib=b:c _/;JJ" (6)
ah=b:¢c ac= ,52 . 'b" Is said to'he proportional between '¢' and '¢'.
(A) Third 1= (B)EFourth &z (C) Means L~ (D) Second !
(7) Find 'x' in proportion 4 : x ::5:1§ -ji—:f)b” X'k 4rx5:15 (7)
7 =g 3
(A) 9 ¥B) o (C) % (D) 12 |
(8) The identity (5x+4)% = 25%° N0x+16 is true for: -.T_.:f,u“ii L e(5x+4) = 25x% +40x+16 LU (8)
(A) One value of x c«f..ﬂgf X (B) Two values of x uiﬁ:uﬁ x
(C) All values of % u?.’"l"ﬁd/ x (D) Three values of x  Useofy x _
(9) A collection of we'ﬂ-dgﬂned objects is called: -ﬁ:ubiﬁ*’;r‘-;{?‘sfﬁ (9)
(A) Subs@y- (B) Power set &xu,  (C) Set r (D) Improper set w2l #
(10) The nurfibey of elements in power setof {1, 2, 3 }is: -;L&m'#ju(uff‘f—éﬁw’;i {L23} (0
(A) 4 (B) 6 (C) 8 (D} 9 )
(11) A grouped frequency table is also called: i -c‘f-ir"ll?UM?dwjd‘ﬁf (1)
(A) Data »J# (B) Frequency distribution ({325:,07 (C) Frequency polygon Lu.fuu?/*juﬁ (D) Histogram Sy
{12} The most frequent occurring observation in a data set is called: -g.d&fﬁd'fif;/e:‘,)c.v'uf:'fu (12
(A) Mode »:k (B) Harmonic mean L+ _£T  (C)Median b-» (D) Geometric mean bosl5xk!
3n _ , 3m >
(13)  — Radians = = ks — (13)
4 4
(A) 115° (B) 1357 (C) 1507 (D) 30°
(14) Radii of a circle are: Gl gfl (14)
(A) All equal lep it (B) All unequal 4z Z¢U
(C) Double of the diameter (e 5 (D) Half of any chord & »7e »J%s”
(15) Aline which has two points in common with a circle is called: -u_?"'d/ WS P s L e L S (18}
(A) sine of a circle sine K./ (B) cosine of acircle  cosine e #i
(C) tangent of acircle  tangent o /i (D) secantof acircle  secant K 71
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PAPER CODE 2021 (A) L SN
| NIJMBER: 3192 SSC PART-II (10th CLASS) , / )
MATHEMATICS (SCIENCE GROUP) GROUP-II et (o T U
TIME ALLOWED: 20 Minutes OBJECTIVE u‘if.ﬁ @20 =
MAXIMUM MARKS: 15 - 15= AF

e ol /Lf/b,ui:/,jua':..vlf..»w::.u‘ J;/f)a’fc..m‘.bwidlr"//d{dli u”rfz.'_: D . CB-A uifﬁjfwﬁdf/f kit
SEIE Y] RNy LA ALy :():/l; -?mr"bk._»b’od;ufu;r‘(ja.// Jok | a.,f.o(u:/buhr.:-u( By
Note: you have four choices for each objective type question as A, B, C and D. The choice -u‘/ g );-..,Uir
which you think is correct, fill that bubble in front of that question number, on bubbie sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) Two linear factors of x> — 15x + 56 are: B0l nd x* - 15x + 56 (1)
(A) (x-7),(x-8) By (x+7)(x-8) (C)x-7)(x+8) (D) (agZ)(x+8)
" (2) Product of cube roofs of unity is: -a:-wﬂf H’v’ﬁ”wﬁdf’ (2)
(A} 0 (B) 1 (€} =1 D) 3
3) o2+ p? isequalto: * -l a+p? @
2-p? (B)%+B—‘5 © (@ +patadp  (© o+p
o
(4) Inaratio x:y 'y iscalled: ) b Yy iy 2 @
(A) Relation cf’ (B) Antecedent fzd?f (C) Canseqglient fy(j {3 (D) Proportion wF
(5) The third proportional of x% and y2 is: - wt‘}'lﬁ? ¥ y2 sl x2 {5
4 2 2
(A % ® *°y’ © % 0 %
x3 +1 X X X NI
(6) S: sl (6)
(x««l)(rJJl) LT (x-D(x+2)
(A) A proper fraction /s._.ef; (B) An identity o
{C) An improper fraction /.,».ls/:f (D) A constant term ﬂ;
(7) The set having only one element is callad: _‘:,t'Uf yu"j._f _s/‘ui‘u’ s (7
(A) Nulf set ex (b (B Power set Zsusi  (C) Singleton set ._xw (D )Subset w(f’ .
(8) If 4 and B are disjoint sétg, thed”4J B is equal to: ~ebss AUB FusrarS /-"/;f B s AN (8)
(A) 4 (B) B ©) ¢ (D) BUA
(9) Adata in the form of frequem:y distribution is called: ~::-fl"( it Jf"w G (9)
(A) Grouped d@ta J!fu‘u/ (B) Histogram .ﬁ’oj § (C)Ungrouped data ;*rgju);-‘ (D) Polygon { u=i /
(10) The measurgsthat are used to determine the degree or extent s b :;./p‘”f Z//L,(J FJolrrzkld  (10)
of variation #ira\data set are called measures of:
(A} Dispefsion s+ (B) Average b (C) Central tendency Ui?ud}fr (D) Domain (%}
(11) secH coth = = secH cotd (11)
. 1 1 sin
V4 gind ) sin@ © cosd © cosb
(12) Line segment joining any point of the circle to the centre is called: -.g.t*ikvis:*ﬁuui,w’z}:;ﬂu/ Lo (12)
(A) Circumference L5 (B) Diameter & (C) Radial segment «#(51» (D) Perimeter b/
(13) Atangent line intersects the circle at; _LbKL/!)JVbJ (13)
(A) Three points ptzécf (B) Two points 4 (C) Single point &£ (D) No point at all d’}iﬂ
(14) The semi circumference and the diameter of a circle i i:r,:slxd/}f’uﬁw;ﬂgfwﬁz_ﬂ: (14)
both subtend a central angle of:
(A) 907 (B) 180° (C) 270° (D) 360° »
(15) The measure of the external angle of a regular octagon is: -%Jmlﬁd/uiﬁi&wﬁf A (15)
R ®) = © 0) =
4 6 8 16

32(0bj)( 7 )-2021(A)-40000 (MULTAN)



PAPER CODE
L ]
NUMBER: 3194

2021 (A)
SSC PART-II (10th CLASS)

MATHEMATICS (SCIENCE GROUP) GROUP-lI I - .Z,;)ﬁ

TIME ALLOWED: 20 Minutes OBJECTIVE (%2 220 = &
MAXIMUM MARKS: 15 15= A

Sl \ I3 L ipene f L s L D 3837 <L D C B A k2 Ly LS
/;/.Jb’ i -&_MJL}'(/UJL}TVJJ*‘J&,/C,, J:):/b -gmr"jbi‘ul?us.&(ﬂ..w"d/d..)fg J._»E( L L./Ju,u m{..rauf ’i}
Note: you have four choices for each objective type question as A, B, C and D. The choice -u“f J"/;\.a tly
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1

B /,;Utr

(1) The semi circumference and the diameter of a circle o i:y:,:«;ljd};'(uﬁj,pﬁ»fhf..iﬂjiaﬁb (1)
both subtend a central angle of:
(A) 90° (B) 180° (C) 270° (D)\(360%
{(2) The measure of the external angle of a regular octagon is: --:;-.wa U}’”JL}J/..LU/ (b" il (2)
) = ®) = (©) % (D) =
4 6 8 16
(3) Two linear factors of x% —15x + 56 are: -sz}g(ﬂﬂufuﬁ x2—15% + 56 (3)
A (x=7)(x~-8) B)(x+7)(x=8) CHx-7),(%+8) (DNx+7)(x+8)
(4) Preduct of cube roots of unity is: _4‘-_9,%}’ 1 gﬂluigééﬁ (4)
(A) O (B) 1 (! (D) 3
(5) o’ + B2 isequal to: cltith a’+p2 (5)
(A) o - p2 (B)—12—+—B—12— C)(a+B) -22B (D) a+P
o
(6) Inaratio x:y, 'y iscalled: - :‘al.“[l:f 'y xiy e (6)
(A) Relation (B) Antecednt’ A (C) Consequent fij» (D) Proportion w&
{7) The third proportional of x* and yz s -f.,.,‘gt-}'l/:rg .V2 s x> (7)
4 2
& % Gry?y? © % © =
(8) +1 s 3 .{I X+l | (8)
(x-D(x+2) (x-D(x+2)
(A) A proper fraction /'f..-}h (B} An identity b
(C) An impropeRfidgtion - ol (D) A constant term ﬁ F
(9) The set hawngen \'Bne element is called: e bl oy J»—f AL e (9)
(A) Nullsel\ 2+ (B) Power set 2wl (C) Singleton set = wﬁt D) Subset wui
(10) If 4 and™B are disjoint sets, then A B is equal to: -ebnsdse AUB ﬂurwJ// B AN {10)
(A) 4 (B) B € ¢ (D) BUA
(11) Adata in the form of frequency distribution is called: *c’-?UJ it P J(J G (1)
{A) Grouped data :ly‘gi;/" {B) Histogram »’oj § (C) Ungrouped data si»(§ ,,1/ D) Polygon { e /
(12) The measures that are used to determine the degree or extent -é.t'J"( {a.xr)”: C//L,(L)L Kualysskld  (12)
of variation in a data set are called measures of.
(A) Dispersion i (B) Average bl (C) Central tendency (;J@'-Jd}';‘ (D) Domain &2}
(13) secB coth = =secO cotd  (13)
. 1 I sinf
(A) sin® ® sin® © cos ) cos@
(14) Line segment joining any point of the circle to the centre is calted: dgtuf% ;ﬁwsi.ufﬂ}c.ﬁu/ Lo (14)
(A) Circumference b (B) Diameter » (C) Radial segment 51, (D) Perimeter bl
(15) Atangent line intersects the circle at: __..L:K:Q./bJLfb..f (15)

(A) Three points {},incf (B) Two points J;Lkz?s: (C) Single point /J»J..Q (D) No point at allu..f/,&»fu’(
32(Obj)( ilfil’)-zom (A)-40000 (MULTAN)




PAI:ER CODE 2021 (A)
MATHEMATICS (SCIENCE GROUP) GROUP-II s o oad (o) V) Gl
TIME ALLOWED: 20 Minutes OBJECTIVE (%2 020 = &
MAXIMUM MARKS: 15 15= AF
A\ A3l ip e b s i vl i J607 L LE D s C B A MRl 2
/:{._JlrJl gﬂ_btjwf‘dfu.ujf"(,(d,):,q J[,u/ gmﬂwu:ﬁuﬂwuu‘&d_/ﬁf / ¢ L L/JU;/IHJLJ{._.J f_.:
Note- you have four choices for each objective type question as A, B, C and D. The choice -J.JMJ’/’;UJJ:/
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER. ;
Q.No.1 A Ay
(1) The set having only one element is called: et :ru(..fu/"u’fv" (1)
(A) Null set 2o (B) Power set Zxul  (C) Singleton set JO’L D) Subsét ug(f ,
(2) 1 A and B aredisjoint sefs, then AU B isequaltc;  -etuds AUB }U)"JJ}/} B o AN (@
(A) 4 (B) B (C) ¢ (B3, BUA
(3) Adatain the form of frequency distribution is called: N 2 bbb i L;{’J’ Uaud (3)
(A) Grouped data Jlr'LﬁJ (B) Histogram :ﬁ‘d ¥ (C)Ungrouped data ﬁrgﬁ:ﬁ* (D) Polygon Gt
(4) The measures that are used to determine the degree or extent -k L%( ra_),/ ot U/J/& Kes sl (4)
of variation in a data set are called measures of:
(A) Dispersion i+ (B) Average L (C) Gentigl tendency c)lfudy// (D) Domain (s
(6) sech cotd = = secH cotf (5)
) sind ®) Y- o) 222
sin® cosd cosO
(6) Line segment joining any point of the circle to the centre”i§ called: -4‘;.3’111'15 aBhd &f}ffc.,h‘i?o/ g (6)
(A) Circumference Ls (B) Diameter % (C) Radial segment k51, (D) Perimeter bb!
(7} Atangent line intersects the circle at: -& Ub@Q../bL;Lbe (7)
(A) Three points 45%5 (B) Two poift€ )bty (C) Single point z &L (D) No point at ailu"’u’xﬂo’(
(8) The semi circumference and the diametef #f a circle -c_b'r_,sud//{uﬂwulﬁ_wiz_f (&)
both subtend a central angle of:
(A) 90° (B) 180° () 270° (D) 360°
(9) The measure of the externahanlile of a regular octagon is: - meJuwa—d’ /}f oy (9)
FI I s i
(A) 4 . (B) = (C) ry (D) T
(10) Two linear facdof x> — 15x + 56 are: B8l X2~ 15x+56  (10)
(A) (x S x - 8) B (x+7).(x=8) (€)(x=7)(x+8) (D)(x+7)(x+8)
(11) Product of cube roots of unity is: ,gt_.,,ﬁfwﬂwzam (11)
(A) 0 (B) 1 (C) -1 D) 3
(12) a? + B2 isequal to: . &l a?+p2 (12
A o? - p2 ®) iﬂng‘-j« o +B)2 —20p (D) a+P
o
(13) Inaratio x:y, 'y' is called; ) et 'y xiy e (13)
(A) Relation 5 (B) Antecedent JUL:;“ (C) Consequent ﬁﬁ/» (D) Proportion wt
(14) The third proportional of x* and  »* is: -{-b/l':*ﬁ-:b/ ¥ o2 (14
4 2 2
® L ®) 5’ © % 0) 25
HSe1 F x ¥ X+ 1
(15) is: R (15)
(x=-1)(x+2) (x-D{(x+2)
(A) A proper fraction /,.2.?; (B) An identity s .
(C) An improper fraction /;y.h/-f (D) A constant term ﬁd"‘
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